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Bridge

           The Striptease Coup
  Today’s deal illustrates a rare play some

times called the “striptease coup.”
West leads the king of hearts, and declarer

sees he might lose a heart and two trumps and
go down one in five clubs.

To try to avoid this outcome, South wins the
heart lead with the ace, cashes the queen of
spades, crosses to the ten of diamonds and plays
the ace of spades.

East ruffs with the four to stop declarer from
discarding his heart loser, and South overruffs
with the five.

Declarer cashes the ace of diamonds and con-
tinues with the king, planning to discard
dummy’s heart loser if West follows suit.

But West trumps the third diamond with the
three, and dummy overruffs with the eight as
East follows suit.

Continuing his campaign, declarer plays the
king of spades from dummy, forcing East to ruff
with the six as South overruffs with the seven.

The striptease has now been accomplished.
Both East and West have been denuded of their
low trumps, leaving the king and ace as the only
trumps they have left.

Declarer next leads the queen of diamonds,
and West can do no better than ruff with the ace
as dummy’s nine of hearts is discarded.

Sooner or later South ruffs the jack of hearts
in dummy, and his only losers turn out to be the
A-K of trumps.

The sequence of plays described here is, of
course, an unusual way of extracting trumps,
but that is hardly a bar to its use.

Any port in a storm!
   Tomorrow: Upping the percentages.
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Mother Goose and Grimm • Mike Peters

Baby Blues • Rick Kirkman & Jerry Scott

Sally Forth • Greg Howard

This is a logic-based
number placement puz-
zle. The goal is to enter
a number, 1-9, in each
cell in which each row,
column and 3x3 region
must contain only one
instance of each nu-
meral. The solution to
today’s Sudoku puzzle
is right.
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Conceptis Sudoku by Dave Green

Difficulty Level 1/03
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